Density

Density

2e-07 4e-07 6e-07

0e+00

0.0e+00 4.0e-08 8.0e-08 1.2e-07

Bp = 13 line = MAGIC.433, Chr=2

I I I I I
-1e+06 0e+00 1e+06 2e+06 3e+06

N =3 Bandwidth = 4.176e+05
breakpoint: 3604544 - 3604584 sf-2 kn-0

Bp = 28 line = MAGIC.433, Chr=3

I I I
-5e+06 0e+00 5e+06 le+07

N =2 Bandwidth = 1.683e+06
breakpoint: 11112218 — 11112219 sf-2 oy-0

Frequency

Frequency

1.5 20

1.0

0.5

0.0

1.0

00 02 04 06 038

line = MAGIC.433,Chr=2

[ I I
0 500000 1500000

breakpoint: 3604544 - 3604584 sf-2 kn—-0

line = MAGIC.433, Chr=3

[ I I
Oe+00 4e+06 8e+06

breakpoint: 11112218 — 11112219 sf-2 oy-0



Density

Density

Bp = 32 line = MAGIC.433, Chr=3

0.0020
|

0.0010
|

0.0000
|

I I I I I I I
8040800 8041100 8041400

N =2 Bandwidth =74.26
breakpoint: 14538802 — 14538804 sf-2 oy-0

Bp = 33 line = MAGIC.433, Chr=4

1.0e-07
I

I I I I I I I
-4e+06 Oe+00 4e+06 8e+06

0.0e+00
|

N =4 Bandwidth = 1.352e+06
breakpoint: 1867838 — 1867839 wu-0 oy-0

Frequency

Frequency

line = MAGIC.433, Chr=3

1.0

00 02 04 06 038

[ I 1
8040900 8041100 8041300

breakpoint: 14538802 — 14538804 sf-2 oy-0

line = MAGIC.433, Chr=4

1.5 20

1.0

0.5

[ I I I I
0e+00 1le+06 2e+06 3e+06 4e+06

breakpoint: 1867838 — 1867839 wu—-0 oy-0



Density
0.000 0.002 0.004 0.006

Bp = 34 line = MAGIC.433, Chr=4 line = MAGIC.433, Chr=4

Frequency

I I [ I 1
5709600 5710000 5709600 5710000 5710400

N =6 Bandwidth =27.34 breakpoint: 2579964 — 2579967 oy-0 wu-0

Density

1.5e-05 3.0e-05

0.0e+00

breakpoint: 2579964 - 2579967 oy—0 wu-0

Bp = 36 line = MAGIC.433, Chr=4

I I I I I I I
10000 30000 50000 70000

N =6 Bandwidth = 5445
breakpoint: 4011919 - 4011971 po-0 oy-0

Frequency

1.0 15 20

0.5

0.0

line = MAGIC.433, Chr=4

[ I I I I
20000 30000 40000 50000 60000

breakpoint: 4011919 - 4011971 po-0 oy-0



Density

Density

0.000 0.002 0.004 0.006

0.00006 0.00012

0.00000

Bp = 38 line = MAGIC.433 , Chr=4

I I I I I
201900 202000 202100

N =2 Bandwidth =27.48
breakpoint: 4320923 - 4320924 wu-0 sf-2

Bp = 39 line = MAGIC.433, Chr=4

I I I I
0e+00 1le+05 2e+05 3e+05

N =114 Bandwidth = 1177
breakpoint: 4572626 — 4572634 sf-2 wu-0

Frequency

Frequency

line = MAGIC.433, Chr=4

1.0

00 02 04 06 038

[ I I 1
201900 201950 202000 202050

breakpoint: 4320923 - 4320924 wu-0 sf-2

line = MAGIC.433, Chr=4

20 40 60 80 100

0
L

[ I I I I
0e+00 1le+05 2e+05 3e+05 4e+05

breakpoint: 4572626 — 4572634 sf-2 wu-0



Density

Density

Bp = 42 line = MAGIC.433 , Chr = 4

0.00030
|

0.00015
|

I I I I I I I
4522000 4524000 4526000 4528000

0.00000
|

N =9 Bandwidth = 682.2
breakpoint: 11039272 — 11039328 can-0 ler-0

Bp =47 line = MAGIC.433, Chr=5

I I I I I I I
0.0e+00 4.0e+06 8.0e+06 1.2e+07

0.0000 0.0004 0.0008 0.0012

N =9 Bandwidth =209.9
breakpoint: 10817012 — 10817172 hi-0 sf-2

Frequency

Frequency

line = MAGIC.433, Chr=4

[ I I I I I 1
4523000 4524000 4525000 4526000

breakpoint: 11039272 — 11039328 can-0 ler-0

line = MAGIC.433, Chr=5

3 4
|

2
l

[ I I I I I I
0.0e+00 4.0e+06 8.0e+06 1.2e+07

breakpoint: 10817012 — 10817172 hi-0 sf-2



Density

Density

0.0e+00 1.0e-06 2.0e-06

2e-06 4e-06

0e+00

800000

Bp = 48 line = MAGIC.433, Chr=5

I I I I I I
1200000 1600000

N =9 Bandwidth = 8.132e+04
breakpoint: 11124271 — 11124295 sf-2 hi-0

Bp =49 line = MAGIC.433, Chr=5

I I I I I I I
—1e+05 le+05 3e+05 5e+05

N =20 Bandwidth = 5.351e+04
breakpoint: 11738433 — 11738434 hi-0 sf-2

Frequency

Frequency

3.0

2.0

1.0

0.0

line = MAGIC.433, Chr=5

| | | | | | | |
1000000 1300000 1600000
breakpoint: 11124271 - 11124295 sf-2 hi-0
line = MAGIC.433, Chr=5

[ I I I I I I I
0 100000 200000 300000

breakpoint: 11738433 — 11738434 hi-0 sf-2



